

08/29/2024 09:00 AM | Install Day 1 08/30/2024 09:00 AM | Install Day 2 08/31/2024 09:00 AM | Event Date 09/01/2024 09:00 AM | Strike PO: Shipping Address: Ojai Valley Inn $\begin{array}{ll} \text{Michel B Events} \\ \hat{A} \\ \hat{A} \text{ , } \hat{A} & \hat{A} \end{array}$

Invoice Date:

Due Date: Upon Receipt

Salesperson: Milana Ayvazova

		ourcoperoon. Whata Ay vazova			
Description		Qtty	Price		Total
Saturday - Welc	ome Party Herb Garden				
	Sconces - Iron Armed Bistro Sconce W/ Clear Glass Globe	8	\$0.00	Т	\$0.00
	6"W x 8"D x 11.75"H				
	Store Fronts To Span 140'W	1	\$56,000.00	Т	\$56,000.0
	mix of stock and custom store fronts, paint color, awnings and verbiage to match client's theme, store fronts only - not to go inside, fabric included to cover windows / doors				
	Full Stores - 20' x 20' x 12'H	2	\$5,500.00	Т	\$11,000.00
	With Full Fabric Walls and Fabric Ceiling				
	Props - Carts - Display Cart W/ Drawing - Limone giftbags 8WâN 🕸 40âN N 1.79âN N H	1	\$950.00	Т	\$950.00
	Props - Carts - Display Cart W/ Drawing - Amarena parfumerie 77â\(\text{N} \) \(\text{W} \) 38â\(\text{N} \) \(\text{L} \) 77â\(\text{N} \) \(\text{H} \)	1	\$950.00	T	\$950.00
	Props - Carts - Metal Flower Display Cart 88" x 58" x 100"	1	\$950.00	T	\$950.00
	Props - Carts - Display Bike Cart W/ Drawing - Mela macaroons 4â\(\text{lW} \times 140\hat{a}\(\text{l} \times 40\hat{a}\(\text{l} \text{l} \text{H} \)	1	\$950.00	Т	\$950.00
	Props - Carts - Display Cart W/ Drawing - Fragola macaroons 77"W X 35"L X 39"H	1	\$950.00	Т	\$950.00
	Garden Props - Umbrella - White & Fringe option 1 5.5' W x 6' H	8	\$150.00	Т	\$1,200.00
***************************************	Garden Props - Umbrella Square 10' option 2 10'W x 10'L - Cover Color Upon Request	8	\$250.00	T	\$2,000.00
	Garden Props - Umbrella Stand - Bronce Finish paintable 21.7"Dia. x 13.5"H, 44 lbs.	16	\$0.00	T	\$0.00

Description		Qtty	Price		Total
	Custom Pergolas Over Bar Approx 12'	2	\$2,000.00	Т	\$4,000.00
	Bars - New York - Folding 8' add trellis piece to front, Final paint colors TBD 8'W x 30"L x 42"H - Color Change Upon Request	6	\$1,150.00	Т	\$6,900.00
	Bars - New York - Folding 6' add trellis piece to front, Final paint colors TBD 6'W x 31"L x 42"H - Color Change Upon Request	2	\$1,050.00	Т	\$2,100.00
	Pedestals - New York add trellis piece to front, Final paint colors TBD 26"W x 26"L x 40"H - Custom Color Upon Request	6	\$350.00	T	\$2,100.00
	Additional Custom Pedestals - New York add trellis piece to front, Final paint colors TBD	2	\$850.00	Т	\$1,700.00
**	Garden Props - Kids - Black And White Lamp Post finish tbd 16" X 9' 10" H	2	\$400.00	Т	\$800.00
	Total Sature	day - Welcome	Party Herb Gard	den	\$92,550.00
Pullsheet					
Store Front Item			Total Pullsh	\$0.00	
	Panels - Oval Window Frame 8'W x 14'2"H	18	\$0.00	T	\$0.00
	Panels - Oval Window Hard Panel 12'h 4'W x 12'H	6	\$0.00	T	\$0.00
	Panels - Oval Window Hard Panel 8'h 4'W x 8'H	2	\$0.00	T	\$0.00
	Panels - Wood Moulding W/ Open Window 10'h 3'''w x 10'H - Window Opening 23"1/2 x 49"H	4	\$0.00	T	\$0.00
	Panels - Flat Arched Alcove 8'W x 10'H	10	\$0.00	Т	\$0.00
-	Panels - Florence - Hard Panel 02 5'W x 9'5"H	14	\$0.00	T	\$0.00
	Panels - Florence - Hard Panel 01 5'W x 10'H	5	\$0.00	T	\$0.00

Description		Qtty	Price		Total
	Panels - Tiffany - Wood W/ Niche & Shelves 4' x 10'H	14	\$0.00	Т	\$0.00
	Panels - Tuscany Entrance W/ Swing Door Hard Panel N/A	2	\$0.00	Т	\$0.00
	Panels - Window Frame Panel 8'W x 4"1/2D x 10'H	13	\$0.00	Т	\$0.00
	Panels - Wood Moulding 9'h - 2 Trims 3'W x 9'H	14	\$0.00	Т	\$0.00
VIRTUAL PRACTY	Panels - Store Front 01 holding only, price for these included in the overall store fronts line item 11'9"W x 11'H	1	\$0.00	Т	\$0.00
	Panels - Store Front 02 holding only, price for these included in the overall store fronts line item 13'1"W x 12'9"H	1	\$0.00	Т	\$0.00
	Panels - Store Front 03 holding only, price for these included in the overall store fronts line item 11'9"W x 13'9"H	1	\$0.00	Т	\$0.00
Patronial	Panels - Store Fronts 04 holding only, price for these included in the overall store fronts line item	1	\$0.00	Т	\$0.00
		Total Store Front Items			\$0.00
Services					
	Drive + Install Day 1	10	\$650.00		\$6,500.00
	Install Day 2	10	\$500.00		\$5,000.00
	Install / Touchups Day 3	10	\$500.00		\$5,000.00
	Strike + Drive Back	10	\$650.00		\$6,500.00
	Hotel Rooms	1	\$5,200.00		\$5,200.00
	TRUCKING	5	\$620.00		\$3,100.00
	Per Diems	10	\$185.00		\$1,850.00
	Hotel Room For Manager (3 nights)	1	\$1,800.00		\$1,800.00
	Manager Fees: Revisions, productions, renderings, management on site, etc	1	\$2,500.00		\$2,500.00

Please make checks payable to Revelry, Inc.

Note: Prior to deliveries and pick-ups all invoices must be pay in full

Please ready the contract and sign it

Notes

25% Deposit due ASAP at confirmation. Additional 25% due in June

2024. Remainder balance due 30 days prior to delivery

Total Products: \$92,550.00

Total Labor/Services/Misc: \$37,450.00

Wear & Tear (5.00%): \$4,627.50

Packing (3.00%): \$2,776.50

Taxes: \$8,792.25

Discounts: (\$0.00)

Total: \$146,196.25 Payments: (\$36,828.13)

Balance: \$109,368.12